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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 654 82.48] Thris 000 ~ 654| 1.71 9.16 ZThLLSE 1.00| 500 ~ 7.83 82.48| Thuls | 500 ~ 7.83| 1.71 9.16
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00/ 000 ~ 6.16 77.30] #hklst 1000 ~ 6.16] 1.61 8.62 Zh LS 1.00] 500 ~ 750 77.30] #hbilst | 500 ~ 750 1.61 8.62
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{ 000 ~ 6.58 83.01] #hbList | 000 ~ 6.58| 1.68 8.97 Zh LS 1.00|] 500 ~ 8.0 83.01| #huls | 500 ~ 8.00| 1.68 8.97
4 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Zh st 1.00[0.00 ~ 565 70.62] #hklst 1000 ~ 565| 1.83 9.79 Zh LS 1.00| 500 ~ 6.38 70.62| #hLis | 500 ~ 6.38] 1.83 9.79
5 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{ 000 ~ 474 59.04] ZhLlst | 000 ~ 474] 181 9.67 Zh LS 1.00| 500 ~ 502 59.04| Zhulst | 500 ~ 502| 1.81 9.67
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